
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5337.7 × 0.001 = ________ 5764.4 × 0.01 = ________

4286.2 × 0.0001 = ________ 9095.8 × 0.1 = ________

2294.6 × 0.1 = ________ 5958.5 × 0.01 = ________

3572 × 0.0001 = ________ 3270.9 × 0.01 = ________

9662.7 × 0.01 = ________ 7034.4 × 0.001 = ________

7368.3 × 0.1 = ________ 2789 × 0.001 = ________

8284.9 × 0.001 = ________ 7483.7 × 0.01 = ________

7108.1 × 0.1 = ________ 8793.5 × 0.01 = ________

8269.1 × 0.001 = ________ 6418.3 × 0.01 = ________

4795 × 0.01 = ________ 8519.4 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5337.7 × 0.001 = 5.3377 5764.4 × 0.01 = 57.644

4286.2 × 0.0001 = 0.42862 9095.8 × 0.1 = 909.58

2294.6 × 0.1 = 229.46 5958.5 × 0.01 = 59.585

3572 × 0.0001 = 0.3572 3270.9 × 0.01 = 32.709

9662.7 × 0.01 = 96.627 7034.4 × 0.001 = 7.0344

7368.3 × 0.1 = 736.83 2789 × 0.001 = 2.789

8284.9 × 0.001 = 8.2849 7483.7 × 0.01 = 74.837

7108.1 × 0.1 = 710.81 8793.5 × 0.01 = 87.935

8269.1 × 0.001 = 8.2691 6418.3 × 0.01 = 64.183

4795 × 0.01 = 47.95 8519.4 × 0.1 = 851.94

www.snowmath.com

https://www.snowmath.com

